Pennsylvania Coal Co. v. Mahon:   Reading Comprehension Self-Quiz

(1) The equitable position of the surface owners in this case is less strong than it might be because:

(a) They lost in the Pennsylvania state courts.

(b) They had lived in the house since 1878, so they received a reasonable return on their original investment.  

(c) They purchased their house with notice that they were at risk of undermining if the coal company mined under their lot.

(d)  Many surface owners in Pennsylvania were in similar situations.

(2)  If the Court had upheld the Kohler Act, the coal company would have needed to leave some coal in place to support the surface of many different parcels.  All of the following are true of the value of this unmined coal, except:
(a) The record indicates that it is usually greater than the market value of the parcel on the surface.

(b) Justice Holmes assumes it is great enough to make mining that land each affected parcel unprofitable.

(c)  Justice Brandeis says it may be negligible compared to the value of the coal that can be extracted from each affected parcel.

(d)  The Pennsylvania courts did not determine the value of the unmined coal.
(3) In the majority opinion, Justice Holmes finds only a limited public interest in the application of the statute in this case relying on which of the following:
(a) Any safety concerns can be handled by the coal company giving sufficient notice to the surface owner.
(b) The case only involves one house.
(c) The statute usually does not apply to land where the surface and mineral rights have the same owner.  
(d)  All of the above.
(4)  As Justice Holmes characterizes the effects of the Kohler Act, the case here is most like which of the following:

(a)  Hadacheck
(b)  Hammonds
(c)  Kelso
(d)  Reinman
 (5)  Justice Holmes distinguishes Plymouth Coal because:
(a)  The state has a greater interest in ensuring the safety of poor and working class coal miners than that of people wealthy enough to own their own houses.
(b)  The coal companies burdened by the regulation in Plymouth Coal had not already contracted for the rights in question.
(c)  The coal companies burdened by the regulation in Plymouth Coal all were harmed roughly the same amount on average. 
(d)  Each coal company burdened by the regulation in Plymouth Coal received a significant benefit from the burden the regulation placed on the coal companies working in adjoining mines.
(6) Which of the following passages from the majority opinion is most likely to be quoted by landowners claiming that a particular government regulation is an unconstitutional Taking?

(a) “Government hardly could go on if to some extent values incident to property could not be diminished without paying for every such change in the general law.” (p.117)

(b) “[A] strong public desire to improve the public condition is not enough to warrant achieving the desire by a shorter cut than the constitutional way of paying for the change.” (p.118)

(c) “[T]his is a question of degree--and therefore cannot be disposed of by general propositions.” (p.118)

(d) “The greatest weight is given to the judgment of the legislature.…” (p.117)

(7) Justice Holmes expressly disagrees with which of the following positions taken by Justice Brandeis:
(a) The Kohler Act should be viewed as an attempt by the government to prevent a public nuisance.
(b) The government may regulate to limit the height of buildings. 
(c) In assessing the diminution in value caused by a regulation, a court should look at the entire affected parcel from top to bottom.
(d) All of the above.
